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Given the graph of f(r) above, match the following four functions with

their graphs.
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Given the graph of g(x) above. match the following four functions with
their graphs.
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Your Turn

Describe the translation that has b
to ohiain the graph of g(x). D
function in the form y — k= flx — h).

applied to the graph of fix)
the ion of the lated
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Given the graph of f(x) above, match the following four funetions with
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Given _the graph of g(r) above. match the foll functions wit
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Your Turn

Describe the translation that has been
to ohiain the graph of g(x). D i
function in the form y — k= flx — h).
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pplied to the graph of fix)
ion of the lated

The graph of g(x) is the
same shape as that of
f(x), but it's been moved
4 units right and 6 units
up.

That means the
translated function's
equation will be:

y-6= flx-4)




At right i5 shown the graph of v = f(x) 77T ‘yll” T 11 At right i shown the graph of y = f(x) ™71 'y“" T
For cach transformation below, give its mapping | Ty=1x 2 ' For cach transformation below, give its mapping [ [y=19 | 2
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Chose ONE of the transfonmed fusctions above and sketch its graph on the Chease ONE of the transformed fusctions abave and sketch its graph on the
spplicd grid. sapplicd grid.
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